eI T SN o2 E e
FE: gorag] U GlYEZML(BZES/HY)
Sl AN Soho oY - BE CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
off 2 & ot 1t 10,362,576 11,386,293 A 1,023,717
= 1,574,000
Xl 5,850,000
< 2,938,576
odotzte] U GHYEAIMH(BZES /oY) 3,464,400 5,678,800 A2,214,400
Xl 3,090,000
< 374,400
HE3H ol g - BE 3,224,000 5,340,000 22,116,000
Xl 2,900,000
= 324,000
oY (=1) 2,200,000 4,700,000 22,500,000
Xl 2,200,000
403 XIS E X201 H 2,200,000 4,700,000 22,500,000
Xl 2,200,000
01 AXSHMA2E = 2,200,000 4,700,000 A 2,500,000
OHFEHIAFY (300 4 ) 2,200,000
X 2,200,000
HOotRA FLIHY 89 (=21) 1,000,000 600,000 400,000
Xl 700,000
< 300,000
207 & 00 &l 1,000,000 600,000 400,000
Xl 700,000
< 300,000
01 2284 1,000,000 600,000 400,000
Odfiet&E Al ILHEEA(Z1) 1,000,000
Xl 700,000
< 300,000
HHS O S&2el 2 24,000 40,000 A 16,000
202 oddl 4,000 8,000 A4,000
01 = LH o4 4l 4,000 8,000 24,000
Ot I Set&eltHz =& 4,000
403 XIS E X201 & 20,000 32,000 A 12,000
01 X SHHX2E= 20,000 32,000 A 12,000
OB I S22 (601 A) 20,000
CIOtMERH B8 Y ST ES 240,400 338,800 98,400
Xl 190,000
< 50,400
THSALMY IS0 (=1) 190,000 190,000 0
Xl 190,000
403 X EHHS 20l A 190,000 190,000 0
Xl 190,000
01 X ESHHMA=LE L 190,000 190,000 0
ONLH IS HtAS (6IHA) 190,000
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gz 2N e
clottel U HLBINM (BHES/HY)
CIOLMENN BF U HUYBALS

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
| Al 190,000
Hs € HES =HIIHMHEXA 50,400 28,800 21,600
403 XX SHHS K201 & 50,400 28,800 21,600
01 XIS A2E X 50,400 28,800 21,600
OHSK|Y HRE =HHEXX(44A) 50,400
YL L SFI XL (Sl LpH/oHLd=A - HE) 6,609,500 5,410,840 1,198,660
= 1,574,000
N 2,760,000
= 2,275,500
HYASS e & 22 9,000 41,480 N 32,480
HEASAMY 2435 9,000 41,480 N 32,480
201 Bt 5,000 5,000 0
03 &AL EH| 5,000 5,000 0
OYRE HYAB+ MPHols 29 5,000
202 044 4,000 6,480 A2,480
01 2L I 4,000 6,480 AN 2,480
OWLABLMY HEF JRET 4,000
o2 - YA eEe 2= 5,397,500 3,755,080 1,642,420
= 1,574,000
Xl 2,760,000
o= 1,063,500
2E HUOSH X 58,000 59,480 A 1,480
202 044 8,000 9,480 A 1,480
01 2L Y| 8,000 9,480 AN 1,480
Oodlltd & & 2 ozt 2= 8,000
308 XX EHSOIA 50,000 50,000 0
01 AIXSHMENMNEX= 50,000 50,000 0
OHN8sl ZEHICH=EHM K& 50,000
MUY HAEZ=X XKA(=21) 38,000 0 38,000
= 38,000
308 XAHXIGH SO0l & 38,000 0 38,000
= 38,000
01 AIKISHENEXZ 38,000 0 38,000
OMNLANMNAEZ= NEIZ)H X AY 38,000
= 38,000
St MY N AEZXER X4(21D) 1,150,000 0 1,150,000
= 1,150,000
403 XX SRS K 20| & 1,150,000 0 1,150,000
= 1,150,000
01 MXSHHNE2BE =X 1,150,000 0 1,150,000
OHd =gt dEXES X4 1,150,000
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A= gszER PN o2t
HE: YT L SRINVIS(SYHSLL/HS2 - OE)
Selrof2d N guet 2= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| = 1,150,000
HEMEDIS MRE WS (21) 36,000 27,600 8,400
= 36,000
308 AHAIEHHSOIA 36,000 0 36,000
= 36,000
01 HIXNHHNBHEES 36,000 0 36,000
OWENMELS ARE HEXE 36,000
= 36,000
HEMEDOS ASSMS(Z21) 130,000 0 130,000
= 100,000
< 30,000
403 MtXISHH S =01 & 130,000 0 130,000
= 100,000
< 30,000
01 AXSHHA=2E = 130,000 0 130,000
OEHMENts DEstMY XI& 130,000
= 100,000
< 30,000
HE22 =4(=221) 650,000 650,000 0
Xl 500,000
= 150,000
403 A X EHHS =0l A 650,000 650,000 0
Xl 500,000
< 150,000
01 X EHHMA=LE XL 650,000 650,000 0
Ofl=sd cdMdES2 =4 650,000
Xl 500,000
< 150,000
o3 oot g82 &4 2,210,000 2,210,000 0
Xl 1,700,000
< 510,000
403 Ut SHHSA=0l& 2,210,000 2,210,000 0
X 1,700,000
< 510,000
01 XM A2E X 2,210,000 2,210,000 0
Od= ofietttR g2 X4 2,210,000
Xl 1,700,000
< 510,000
2y 243 X 17,500 18,000 A 500
308 XXM SOIA 17,500 18,000 A 500
01 X HHBILEES 17,500 18,000 A 500
oollezg gdat XN 17,500
Sdlor HSC HAE Fo 2R W (D) 520,000 390,000 130,000
Xl 400,000
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eI T SN o2 Ee
Ha: ofe2d 2 SR (sHa L/ L4 - 0E)
Ce ooz AN gEe 2= (&)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
== 120,000
403 MtXISHHSA=0l& 520,000 390,000 130,000
X 400,000
< 120,000
01 XM A=2E X 520,000 390,000 130,000
Osoiot z=H g 2GR 520,000
Xl 400,000
< 120,000
ISt XMEDNS 248 AMg(=2) 325,000 0 325,000
= 250,000
< 75,000
403 XIS E X201 & 325,000 0 325,000
= 250,000
< 75,000
01 X SHHA2E = 325,000 0 325,000
Ot XNElts =8 AMd 325,000
= 250,000
= 75,000
S 2FNEML A (2 2) 65,000 0 65,000
X 50,000
< 15,000
403 HXSHHSA=0l& 65,000 0 65,000
Xl 50,000
< 15,000
01 X SHHMA=LE L 65,000 0 65,000
O3sdg 2AZTINY 65,000
Xl 50,000
< 15,000
2o 2 NIAMLAE(21) 143,000 0 143,000
Xl 110,000
< 33,000
403 MtXISHH S0l & 143,000 0 143,000
Xl 110,000
= 33,000
01 XM A=2EE 143,000 0 143,000
Oo=g2c XN 143,000
Xl 110,000
< 33,000
=HREWHS &It X 5,000 0 5,000
301 et A3 5,000 0 5,000
06 212toI =2l 04l 5,000 0 5,000
O=HMEEUWHIEI & RIEE 5,000
NS Z=HEH =HIHAM 50,000 100,000 A50,000
403 MHXSHHSA=0l& 50,000 100,000 50,000
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